

نام و نام خانوادگی: زهرا دهقانی کالیف سیمه، ۰: ۱۱۵۵

الف) $f(x) = \sqrt{x|x|}$, $g(x) = x \xrightarrow{x \geq 0} f(x) = \sqrt{x^2} \rightarrow f(x) = |x| = x \xrightarrow{x \geq 0} f(x) = g(x)$

ب) $f(x) = \frac{(x^2+3)(x+1)+x+5}{x^2+5x+6}$, $g(x) = 1 \Rightarrow \frac{x^2+x+3x+3+x+5}{x^2+5x+6} = \frac{x^2+5x+8}{x^2+5x+6}$
 $\Rightarrow \frac{x^2+5x+6}{x^2+5x+6} = 1 \xrightarrow{x \geq 0} f(x) = g(x)$ ۱۱۵

ج) $f(x) = \frac{x \sin x - 4 \sin x}{x \sin x - 4}$, $g(x) = x \sin x \rightarrow \frac{x \sin x - 4 \sin x}{x \sin x - 4} \xrightarrow{x \sin x \neq 4} \frac{x \sin x - 4 \sin x}{x \sin x - 4} = \frac{x \sin x - 4 \sin x}{x \sin x - 4} = 1$

د) $f(x) = \frac{x}{|x|}$, $g(x) = \frac{|x|}{x} \xrightarrow{x < 0} f(x) = \frac{x}{-x} = -1$, $g(x) = \frac{-x}{x} = -1 \Rightarrow f(x) = g(x)$
 $\xrightarrow{x > 0} f(x) = \frac{x}{x} = 1$, $g(x) = \frac{x}{x} = 1 \Rightarrow f(x) = g(x)$

ه) $f(x) = \left\lfloor \frac{x^2}{x^2+1} \right\rfloor$, $g(x) = \left\lfloor x - [x] \right\rfloor \rightarrow f(x) = g(x) = 0$
 $x \in \mathbb{R} \rightarrow 0$
 $x^2+1 \neq 0 \rightarrow x^2 \neq -1$

و) $f(x) = \frac{1}{\sqrt{x-1}}$, $g(x) = \frac{1}{\sqrt{|x|-1}}$
 $\xrightarrow{x > 1} f(x) = \frac{1}{\sqrt{x-1}}$, $g(x) = \frac{1}{\sqrt{x-1}} \Rightarrow f(x) = g(x)$
 $\xrightarrow{x < 1} f(x) = \frac{1}{\sqrt{1-x}}$, $g(x) = \frac{1}{\sqrt{|x|-1}} = \frac{1}{\sqrt{1-x}} \Rightarrow f(x) = g(x)$

ز) $f(x) = \begin{cases} \frac{x^2-x}{x-1} & ; x \neq 1 \\ 2 & ; x = 1 \end{cases}$, $g(x) = x^2+x$
 $\xrightarrow{x=1} f(x) = 1+1=2 \rightarrow g(x) = f(x)$
 $\xrightarrow{x \neq 1} f(x) = \frac{x(x-1)}{x-1} = x \rightarrow g(x) = x^2+x \neq f(x)$

$\begin{cases} f(x) + g(x) = x^2 + x + 1 \\ f(x) - g(x) = x^2 - x + 1 \end{cases} \Rightarrow \begin{cases} 2f(x) = 2x^2 + 2 \rightarrow f(x) = x^2 + 1 \\ 2g(x) = 2x \rightarrow g(x) = x \end{cases}$ ۲

$f^2(x) - g^2(x) = (f(x) - g(x))(f(x) + g(x)) = (x^2 + 1 - x)(x^2 + 1 + x)$
 $= x^4 + x^2 + 1 + x - x^3 - x - x^2 - x = x^4 + x^2 + 1$
 جواب نیمی

$f(x) \times g(x) = (x - \sqrt{x^2 - 4})(x + \sqrt{x^2 - 4})$

$a = x$
 $b = \sqrt{x^2 - 4}$

$(a-b)(a+b) = a^2 - b^2 \rightarrow x^2 - (\sqrt{x^2 - 4})^2 = 4$

نتیجه $f \times g$ ؟ دامنه ؟

$\frac{x-b}{x^2-3x-4} = \frac{ax+2}{x^2-mx+n} \xrightarrow{\text{مخرج ها}} x^2-3x-4 = x^2-mx+n \Rightarrow \begin{cases} -3 = -m \\ -4 = n \end{cases} \Rightarrow \begin{cases} m = 3 \\ n = -4 \end{cases}$

$am - bn = (3 \times \frac{3}{4}) - (-1 \times -\frac{4}{4}) = \frac{9}{4} - 1 = \frac{5}{4}$
 $b-b=1 \rightarrow b=1$

$$f(x) = \frac{bx + \gamma}{ax + b}$$

$$ax + b \rightarrow ax + b \neq 0 \rightarrow x \neq -\frac{b}{a} \implies D_f = \mathbb{R} - \left\{-\frac{b}{a}\right\}$$

$$D_f = D_g \rightarrow -\frac{b}{a} = -\frac{b}{a} \rightarrow b = -a^2$$

$$f(x) = g(x) = c = \frac{bx + \gamma}{ax + b} \rightarrow \frac{-a^2x + \gamma}{ax - a^2} = c \rightarrow -a^2x + \gamma = cax - ca^2$$

$$D_f = \{w, v, o, -a\}$$

$$D_g = \{x, y, a, -1\}$$

$$D_f \cap D_g = \{w\}$$

$$f(w) = -1$$

$$g(w) = y$$

$$\frac{fg}{f+g} = \frac{y \times y}{y-1} = \frac{1y}{a}$$

$$f = \{(x, -1), (y, y), (-a, w), (o, a)\}$$

$$g = \{(x, y), (y, y), (-1, -x), (a, o)\}$$

$$a, y, w$$

$$wa - vb = 1 \leftarrow f(-w, wa - vb), g(-w, 1)$$

$$d + c = a - 1 = x$$

$$w(-1) - vb = 1 \rightarrow -w - vb = 1 \rightarrow -x = vb \rightarrow b = -v$$

$$g = (a - vb, w), f = (c, w)$$

$$c = -1 - w(-v) = w$$

$$-x^y + x - m = 0 \rightarrow -(-x^y + x - m) = 0 \rightarrow x^y - x + m = 0$$

$$\Delta = 1 - 4m = 0 \rightarrow m = \frac{1}{4}$$

$$x = \frac{1}{y}$$

$$\rightarrow -x^y + x - m = 0$$

$$f\left(\frac{1}{y}\right) = 0$$

$$a, v, w$$

$$\frac{yx + a}{x^y + 4x + b} = \frac{y}{x - c}$$

$$\rightarrow (yx + a)(x - c) = y(x^y + 4x + b)$$

$$\rightarrow yx^y - yxc + ax - ac = yx^y + 4yx + yb$$

$$\rightarrow -yxc + ax - ac = 4yx + yb$$

$$\rightarrow x(-yc + a) - ac = 4yx + yb$$

$$\rightarrow -yc + a = 4y$$

$$a = 4y + yc$$

$$-ac = yb \rightarrow b = -\frac{ac}{y}$$

$$b = -\frac{(4y + yc)c}{y} = -4c - c^2$$

$$a + b + c \Rightarrow (4y + yc) + (-4c - c^2) + c = 4y - c^2 - yc$$